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Step 1:ZFFEAN

Y, FATRH Pandas B L1 read_excel() ek F0K 487 TAE H 3 T RIS Excel 3L
—“deaths.xIsx” 1 “icd-main.xIsx” 4 #)E\ %& Pandas Z(#E#E deaths 1 code W', A
PHE2EH N AL TAE BN EFEMIKE 1L, UL E T Pandas Bz EUE P
RIS, AR, B AT

#5 X\ Pandas &A1 Numpy fJ
Import pandas as pd

import numpy as np

In[1]
#i NE 0 deaths.xlsx & Pandas %7 % deaths deaths = pd.read_excel('./dataset/deaths.xIsx’)
#ise NFE S0 icd-main.xIsx & Pandas %4 code

code = pd.read_excel('./dataset/icd-main.xlsx’)

#!7. 7~ Pandas %74 deaths 1 code %144 print(deaths.columns,\n',code.columns)

# L3RR ] RS T8 SAE T R I s, IR B W B 10 51 44
o N2 A H 45 SR

Index(['yod', 'mod’, 'dod’, 'hod', 'cod'], dtype='object')
Index(['code’, 'disease'], dtype="object')




Step 2: F AL

(1) BT
(2) BRR{EAHE
(3) 445G

(4) JOIN #4E
(5) HIEHEF




(1) &3
fEtk, FoA 15 MEE e deaths i i 20084F [ MASE T KR, I 2
B IRSIHAR IR . =T

In[2]| #2EAT AL U8
mexico_deaths 2008 = deaths[(deaths['yod’]== 2008) & (deaths['mod’]!= 0)&

(deaths['dod']!=0)].dropna()
# 3R] &2 “S4r” 42008, H “HHr” 1 “H¥” AA0
BT A 8 G R AR print(mexico_deaths 2008.shape)

X N B HH 4 RN

(502520, 5)




(2) sRRAEALHE

REW] “5.4 BRICEDE S AL A4 T BB ) AR 5. R, BRATRA
Pandas 2t fJdropna() sk £ B MR B dE Edeatshs H )& A S BB IAT .

IN[3]|#AH b 5 2R 2 3

mexico_deaths = deaths.dropna()

HAY A SO E AL PR S BB HE mexico_deaths [IHT 10 17 mexico_deaths.head(10)
[527~] CRTERREARE MR, Wizs 35 4753 S MR

XF N A HH 25 RN

yod mod dod hod cod
34 1920 11 17 3.0 W78
36 1923 2 4 16.0 J44
37 1923 6 23 19.0 E12
38 1926 2 5 16.0 C67
39 1926 4 1 16.0 J44
40 1928 10 30 19.0 127
41 1929 4 23 15.0 125
42 1930 9 11 19.0 E14
43 1930 12 22 19.0 E11




(3) Hadstit

G REIEN Lhw AW ke —. EEER22FiE % K Pandas
1] groupby ()R F AT Tl it . AREIH, AR IR AE TR e A BB T i[5
Xf#PE HE mexico  deaths HH 1) “FET- N7 AT HSeth, RS
HE mexico_deaths #1358 N —ANiFl—freq, FTieR 0485 4R,
ZANIE N

In[4]| m_d = mexico_deaths.groupby([‘hod’,'cod’]).size().reset_index().
rename(columns={0:'freq’,'cod".'code'}).dropna()

# [#2R]) eat, ¥ JE “cod”FE A4 N “code”




(4) JOIN #A4E

5R R[EHEE PRI ZRELAFIJOIN #AEMML, Pandas BEdE HE W ] Lt
ATEREREE, W TR N H pandas L Imerge() k%, RBITNR .

In[5]| #RF HE B B SE T Bl 5 5 A0 T R R B s S JE i A
m_d = pd.merge(left=m_d, right=code, on='code') m_d[:10]

S N H 45 RN
hod code freq disease
0 1.0 AO01 3 Typhoid and [|paratyphoid fevers
1 2.0 A01 1 Typhoid and |paratyphoid fevers
2 3.0 AO01 4 Typhoid and [|paratyphoid fevers
3 5.0 AO01 5 Typhoid and [|paratyphoid fevers
4 6.0 AO01 1 Typhoid and [|paratyphoid fevers
5 8.0 AO01 1 Typhoid and [|paratyphoid fevers
6 |10.0 AO01 2 Typhoid and [|paratyphoid fevers
7 (1.0 AO01 2 Typhoid and [|paratyphoid fevers
8 |12.0 AO01 1 Typhoid and [|paratyphoid fevers
9 |13.0 AO01 6 Typhoid and [|paratyphoid fevers




(4) JOIN #A4E

HUG WEARER S EHISET N AFSET R R - ANE, Bl h.

In[6]

# A A R S 2R T A2
code_sum = mexico_deaths['cod'].dropna().value_counts()
# AN R JE T [A] B N2

hour_sum = mexico_deaths['hod'].dropna().value counts()

Bk, &F code_sum HJfH, BIAE R K FEIE T AN E s ET 10 T,

In[7]|1#
code sum[:10]

POPVE N REAE YSE
121 46794
EM 42421
E14 27330
Jad 16043
K70 12860
J18 12516
K74 12486
125 10059
150 8486
X59

8188 .
Name: cod,dtype:int64



(4) JOIN #A4E

)5, s~ hour sum [I1E, BIAEZET-BEI NS, =~EIAT .,
In[8]|# & E A EI AL T B [a] B N %X

hour_sum
AN A
PAPNE TR AT yF
18.0 24380
10.0 24321
16.0 23890
11.0 23843
6.0 23787
17.0 23625
12.0 23392
13.0 23284
15.0 23278
14.0 23053
20.0 22926
19.0 22919
9.0 22401
5.0 22126
8.0 21915
7.0 21822
23.0 21446
21.0 20995
22.0 20510
1.0 20430
4.0 20239
3.0 19729

ﬁaﬁe: ﬁga§2dtype:

int64



£ \?H?}EfrEI’J fifi b, BATTE AT PAREAT B 2 F B s b, Wiy

(5) BHEHF

RIrA

}ﬁn
NER!

é&%}%ﬁﬁf PAEIE, FA1VA ] Pandas $2 ) apply() e £t S EASE
o ng ' code freq +aTé4ea§e e Wﬁnh_' Erop fr'e.a_élllt - prop all dist

lg 0 1.0 AO01 3 Typhoidand paratyphoid fevers| 52 0.057692 20430 0.039803 0.000320
1 2.0 A01 1 Typhoidand paratyphoid fevers| 52 0.019231 18962 0.036943 0.000314
2 |30 AO01 4 Typhoidand paratyphoid fevers| 52 0.076923 19729 0.038438 0.001481
3 |[50 AO1 5 Typhoidand paratyphoid fevers| 52 [0.096154 22126 0.043108 0.002814
4 |6.0 AO1 1 Typhoidand paratyphoid fevers| 52 0.019231 23787 0.046344 0.000735

In 5 |80 AO1 1 Typhoidand paratyphoid fevers| 52 |0.019231 21915 0.042697 0.000551
6 [10.0 [AO01 2 Typhoidand paratyphoid fevers{ 52 |0.038462 24321 0.047384 0.000080
7 [(11.0 A01 2 Typhoidand paratyphoid fevers| 52 0.038462 23843 0.046453 0.000064
8 [120 [AO01 1 Typhoidand paratyphoid fevers| 52 |0.019231 23392 0.045574 0.000694
9 [13.0 |AO01 6 Typhoidand paratyphoid fevers| 52 0.115385 23284 0.045364 0.004903

d row.



Step 3: 3R AR

FERE N T 2&at b, FRATTAT L A Python 28 =75 2 8s nl AL BL a4 T

é&?ET%MJc
XF W i,

Tex é?m’wrt’ mntnw%?nl\%){\ 2@6?}?% < ')

24000 |
i | ort_values(‘hod’)
22000 F l'l, marker='o', mec="r', mfc='w')
hEiE . y BZdE . marker R
21000 ’\]ZI@, mfc &E*ﬂ‘lﬂiﬁ?ﬁgﬁ@yﬂ E@
20000 t.rcParams['axes.unicode_minus'] =False
i . . . . B0, WERH A0, EEXT AR AT R

¢ 2 10 15 20



Step 4: % IEEAR

ERIEIN TR AL B, BATE T PR Geit 22 sl a2 2 U B b A7 i@ i, R F4uit4
PRVl 2 A AR, BN R2mMAIEHNE . JA, (EHlar 7 I MG @R
SRR, R B D AT I A AL 2

In[11]|#4R 45 FE K] G ik 2 A0 T2 AN BUOR T 50 B8
m_d_50 = m_d[m_d['n'] > 50] m_d_50[:10]
St [ H 45 TRy

Typhoidand paratyphoid fevers

0 1.0 AO01 3 52 0.057692 20430 0.039803 0.000320
Typhoidand paratyphoid fevers

1 2.0 AO01 1 52 0.019231 18962 0.036943 0.000314
Typhoidand paratyphoid fevers

2 3.0 AO01 4 52 0.076923 19729 0.038438 0.001481
Typhoidand paratyphoid fevers

3 5.0 AO01 5 52 0.096154 22126 0.043108 0.002814
Typhoidand paratyphoid fevers

4 6.0 AO01 1 52 0.019231 23787 0.046344 0.000735
Typhoidand paratyphoid fevers

5 8.0 AO01 1 52 0.019231 21915 0.042697 0.000551
Typhoidand paratyphoid fevers

6 10.0 A01 2 52 0.038462 24321 0.047384 0.000080
Typhoidand paratyphoid fevers

7 11.0 A01 2 52 0.038462 23843 0.046453 0.000064
Typhoidand paratyphoid fevers

8 12.0 A01 1 52 0.019231 23392 0.045574 0.000694
Typhoidand paratyphoid fevers

9 13.0 AO01 6 52 0.115385 23284 0.045364 0.004903



(1) gk T RS E

/A N A4\

ﬁqmﬁ@ﬁ&w

Linear scale scatter Log scale scatter & Best fit line
006 | 2 b
0.05 - 4 L
In[ 4
0.04 +
. 6 -
Z
0.03 .,
_8 —
0.02
&
_10 -
0.01 |-+
II -12
0O EE = u E =
| | | | | |
0 20000 40000 2 3 4

n

I N — vy s s e a—— - -



(2) ZzHlllog=i 8] T FZPE TN R BURZEBUR B

y = np.poly1d(parameter)

# L4211 FIH np.poly1d() T BA3RAF— 0% oy 2

#iT B _ \
m_d_50[‘resid’] = m_d.apply(lambda row: XTI A HE 45 RN

np.log(row['dist"])-y (np.log(row['n'])), axis=1) 0 :
# [0 PR SoAf Uk 2 TR -2 5% 2 resid [<matplotlib.lines.Line2D at 0x22d9c3ae710>]

IN[13]] #% il 5k 22 1 ]
plt.scatter(x_log, y_log-y(x_log), s=0.01, c="0', marker='o’) 2 __ . _ . . __ . __

#i‘f‘ﬁﬁﬁ%%i@’fﬁ M el bR 1
mean_resid = 0*x_log + (y_log-y(x_log)).mean() Or e ;
#1.5 E A EHFET SIEEFHIET: (LR AsE e
unusual_line = 0*x_log + 1.5 R Lot
B2 b 22 1 ) (B b 4k
plt.plot(x_log, mean_resid) A
HOA ) B BT TSI 2 ol
plt.plot(x_log, unusual_line, c='r")
_8 -
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(3) B EWMNE RSB 5ERIENETHEBRIE

¢

m_d_unusual = m_d 50[m_d_50['resid']>1.5]

# (1R ] ik w2z il 1.5 FI3ET A BE T 0
In[14][print(m_d_unusual['code'].unique())

# [#7:] &F S 8EHES LT R AL Z Y

Xof N A HH 25 BN -

['ROS' 'V09' 'V89' 'W69' 'W73' 'W74' 'X95' 'X97' 'X99' 'Y21' 'V79' 'X33' 'VI5]



(4) LLBFET A 350 AR, XA HHERATET 5

In[15]

m
#
m
#

_d_
[z
_d_
[z

S

€

unusual_bigger = m_d unusual[m_d_unusual['n']>350]
] i AR N 350 RS R L AL T A
unusual_smaller = m_d_unusual[m_d_unusual['n']<=350]

1 e RSB T AN BT 350 YRS H AR AU T HdE



(5) BFEIT ABGEII350HIET HIL TR

Hf

In[16] | m_d_unusual_bigger['code'].unique()

X N A 25 RO -

array(['V09', 'V89', 'W69', 'W74', 'X95', 'X99'], dtype=object)



(6) é%%'] I5%i 4

A BG8 350/ 4E T

LA -SRI

B 1)

V09 : Pedestrianinjuredin other and unspecified transportaccidents

V89 : Motor-or nonmotor-vehicle accident, type of vehicle unspecified
|W[697]| Figp =npi¢ Figlanbidersion while in natural water
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(NEF BT ABGET 350 BEFHI T

In[1 8]‘m_d_unusual_smaller['code'].unique()

ISPVE TR EEE AT

array([R95', 'W73', 'X97', 'Y21', 'V79', 'X33', 'V95', dtype=object)



(8)& MBS T ABUMNTF350/JE T H 3L

A7 125 5L

YR AE T B 1] [

e

R95: S nt death syndrome
W73: gﬂﬁ” lllgﬁdr:ovplﬁr Lgmgersion
X97: Assault(fé@rciRggxeadiigenumerate(m_d_unusual_smaller['code'].unique()):
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